CHAPTER 2

WORKED OUT PROBLEMS

2.1 [15] A vector AP is rotated about Z4 by #( 30 ) degrees and is subsequently rotated
about X, by ¢ ( 20) degrees. Give the rotation matrix which accomplishes these rotations
in the given order.
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2.2 [15] A vector “P is rotated about Yy by 30 degrees and is subsequently rotated about
Xa by 45 degrees. Give the rotation matrix which accomplishes these rotations in the
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2.3 [16] A frame {B/ is located as follows: initially coincident with a frame [A), we
rotate {5/ about Zz by 6 ( 20 ) degrees and then we rotate the resulting frame about X by
@ (25 ) degrees. Give the rotation matrix which will change the description of vectors

from 2P to #P. e
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2.4 [16] A frame /B) is located as follows: initially coincident with a frame {A), we
rotate {B/ about Zp by 30 degrees and then we rotate the resulting frame about Xp by 45
degrees. Give the rotation matrix which will change the description of vectors from ?P
to*P.
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2.12 [14] A velocity vector is given by
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2.13 [21) The following frame definitions are given as known. Draw a frame dis-
gram (like that of Fig. 2.15) which qualitatively shows their arrangement.
Solve for ET.
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